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How many millimeters are there in 1
inch?

139 ¥ fba- MelHiex 81d 87

(A) 254 mm (B) 25.4 mm
(C) 24.5 mm (D) 2.45 mm
Answer-B

What is the S.I unit of heat? ST @1 TH.3ME
DS HT 27

(A) Calorie &war (B) Joule Sf&
(C) Centigrade heat unit ¥ERIS S™T 3HI5

(D) British thermal unit fafeer oriat &
Answer-B

What are fundamental units?
STH A e SHRl PA—DIA Al B?
A. Length, Mass, Volume
B. Length, Mass, Time
dTS, THEM, A
C. Length, Mass, Area
oaTS, STIHM, &b
D. Length, Pressure, Volume
Answer-B
What is the perimeter of a rectangle

whose length and breadth are 20 cm and
18 cm?

U AT I YRHTOT T 81, o] orvarg gd
drsrs 20 WHY T 18 W 7

(A) 56 cm (B) 66 cm
(C) 76 cm (D) 86 cm
Answer-C

Convert decimal 0.000659 to fraction?
0.000659 ST A= BT AR =7 7 9l ?
(A) 659/1000 (B) 659/10000
(C) 659/100000 (D)
659/1000000

Answer-D
Convert 0.456 decimal fraction into
percentage?

10.

11.

12.

0.456 TIMMeld =T &l ufqerd & ggfory?

(A) 45.6% (B) 0.0456
(C) 0.456% (D) 0.0456%
Answer-A

What is the boiling point of water?
Y BT FGAATH FIT BT 87

(A) 0°C (B) 32°C
© 100°C (D) 212°C
Answer-C

What is the side of a square whose area is
625 mm?2?

U I Pl oI FT BN, [SRABT &%l 625
e &7

(A) 15 mm (B) 20 mm
(C) 25 mm (D) 30 mm
Answer-C

What is called mass per unit volume of a

substances?
B uerel @ geH U SIS SMIad &l &l
PHEd 87

(A) Mass gegam (B) Weight
IR
(C) Density ¥ (D) Volume amga+
Answer-C
What is the value for specific heat of
water?
g @ fafdre ST &7 A4 T 2?
(A) 4 (B)3
© 2 (D)1
Answer-D

What are the two classifications of
system of units?

SHISAT DI YOl & & hR BT F 87

A. British and Metric fafesr iR Hifgw

B. Gravitational and non-gravitational
THATHY MR IR—THarHyoT

C. Fundamental and derived #iferd iR

D. Metric and International #if¢® 3k

ESSLEE]

Answer-C
What is the square root of 5297
529 &1 e 9T §
(A) 13 (B) 23
(C) 33 (D) 43
Answer-B




13.

14.

15.

16.

17.

18.

Which is example for first order lever?
TS ISR ofiaR & forg I A1 S<rexor 287
(A) A wheel barrow & &ra T

(B) A pair of scissors s & T R

(C) Fire tongs ®RR <A

(D) Lime squeezer ligd ¥dIoR
Answer-B

Which is example for third order lever?
o SR faR T BIF AT ISR 772
(A) Common balance &9 def|

(B) Forceps &A=
(C) A pair of scissors HIoRi & T IR

(D) Lime squeezer ¢gH wdIoR
Answer-B

How many watts for 1 horse power in

British system?

fafeer Rvew # 1 2 wTaR # fohaw arew 8

27

(A) 726 watts

(C) 746 watts
Answer-C

What is the ratio of power output to

(B) 736 watts
(D) 756 watts

power input?

T 3mScye iR Afdd $7Yc &I AFuTd HT
I 87

(A) Work & (B) Energy
Solt
(C) Efficiency <eran (D)
Acceleration w@ror
Answer-C
What is the value of tan 45° if sin 45° =
1/+/2 2
tand5° foee € afk sin45° = 1/v/2 2
(A) 132 (8)2
©)1 (D) V3
Answer-C

What is known for the temperature at
which any solid melts into liquid?

| aoEE R P18 9N, &4 H fUgear 87
(A) Boiling point e (B)
Melting point eI

19.

20.

21.

22.

23.

24,

(C) Latent heat of fusion WS &I i AT

(D) Latent heat of vaporisation arsfieor &1
e ST

Answer-B
What is termed as the quantity of matter
contained in a body?
g H Ffed ugrel @1 @3 B 91 Bl Sl 87
(A) Density gica (B) Volume 3mad=
(C) Mass geH™
(D) Specific gravity faflre &

Answer-C
What is the ratio of mechanical advantage
to the velocity ratio of a simple machine?

Teh YR M & o 3Urd &
i3 1Y &1 IUTd FT &2

(A) Power WleX  (B) Effort THe
(C) Load TS

(D) Efficiency Tith TR

Answer-D
What denotes letter M in MKS system?

MK S gomrelt § M 316k a1 g91iar 27

(A) Mile (B) Meter
(C) Millimeter (D) Micron
Answer-B

What is the area of a rectangle, whose
length and breadth are 10cm and 8cm
respectively? U@ 3T &7 &5%hel RIT BT,

ST TS U4 disls $HHI: 10 I9 Ud 8 JHl
4

(A) 75 cm? (B) 80 cnmy?
(C) 85 cm?? (D) 90 cm?
Answer-B

What is the flow of electrons in any
conductor?

et dheaer U Falagi- &l Uarg ol
gIarg?

(A) Current &IRT (B)
Resistance UfcRIY
(C) Voltage Jieel
RIES]

(D) Ppower

Answer-A
Which is the unit of current?

YRT P ShTs T 87



(A) Watt dIc (B) Ohm3{TH
(C) Ampere TR (D) Volt diec

Answer-C

25. Which is equal to sinB?
sind fhd & SRISR g &7

(A) Hypotenuse/Adjacent side
HOV/ 3T ST
(B) Hypotenuse/Opposite side
HOT/TaTRIT 87T
(C) Adjacent side/Hypotenuse 3THool
$STT/ehoT
(D) Opposite side/Hypotenuse TaadrcT
EIC

Answer-D

IS AU & forw eed sngdeng @ difsw
FARS oY ¢E
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